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BRIEF REVIEW —PARTI 27:35-1.85
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N 11-—1nw Ko
Y % 939 2997 9RY TR NINIRM 9N — TR
<§ Cases of | 1) Scattered fruit 2) Scattered $ 3) Small bundles
A the muwn in o°377 nwA
! 12w 19X 771 | 4) Round pressed figs | 5) Bakers loaves 6) Strings of fish
7) Cuts of meat 8) Raw wool sheerings | 9) Flax combings
10) Tongues of purple wool

aMT 227: _ Round pressed figs with pottery inside
Any object that has something
different is ™25 2 Loaf of bread with money inside

TIYHN 12 YRR San:
Any x101% "2 does not need to be announced.

A
[¢]
V' 38_12 x5
% < IIneR M
y » pnxoan-123pin4 niny

1 92 X2pw 21 - Discussi i ranary. IS nyTN 770N,
> Xn X3P 21 - Discussing left in a granary. Case is nyn 177°ax

% X Rk )
<§ CASE »2vwn an nson
A 2 2p grain in 2 nnx X X n
V 2 2p grain in 8 nx v v ’
1 2p sesame in 4 nnx v v P
1 3p dates/pomegranates X X !

A
Y
§ in 4 N
A
Y
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<O>W<O> <Ow<0> <O>W<O> <O>W<O> <Ow<0> <O>XX<O> <O>W<O>

Ow<0>

3
N AN N N NS A AN NSNS/

14 :X> — 38 .N2
% NYTH RO RIND
9:00 9:30 10:00
Object lost Object found Owner is wxn
CASE 22N hrh)
1290 12 RO 2T VIR 177 K7
20 bw W ZARSIh
37290 12 PIRW (27 WIN® 57 N‘? WIN® 57

34 —1S5 myw RS

o197 BBIT YT N N7 191IDM D190 YRR KRN

No proof because

21nm Sw N3

CASE Proof to Proof
1PIT571n M N9
mAnsnHn myn N9 Object fE”,
Obiject found,
Owner did not know yet,
,712°27 90y X2

TONIR HW MY X2

N1°013 °N1a Myn
mwaTm

X219

Left in threshing house,
case is nym n7ax,  not wwe
Ny Xow

Py’ 21 — people check their
pockets all the time, wxn
already when found

still it is 1w ox 17
must be because

Since they are heavy owner
will realize lost and be wxn
right away

he will be wxn.

Since they are valuable,
owner will check and be
wxon already when found

Py’ »21 — people check their
pockets all the time, wxn
already when found

41 — 34 mw RS

o VPY2 29N BTN 55 INRIND w''n

> uvpY — 1 or 2 stalks that are dropped when harvesting are left for the poor.
> All poor people, in all lands, have a right to that grain.
» Anyone can take the vp> once the mwni have gone through.

» Old men who walk slowly and notice all grains

= Multiple groups have gone through

Proof

No proof because

CASE Proof to
,297% 20 vph X2
72 199°wn
fabi7atahhy

Once muin1 have gone,
anyone can keep it,
since o»w elsewhere will

eventually be wxn

Since the o™ elsewhere
know they will not get it,
they are wxn

from the beginning.

~
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(bank robber)

A 53 — 41 n1w N>
V % 1772 mwoNp
<§ CASE Proof to Proof No proof because
Y 7T MORP ) Figs fell, figs found, Since they are valuable
owner did not know yet, | owner checks and already
A still it is 12w 19K " was wxn (doesn’t want
Y because he will be wxn | because they are squishy)
<§ 0°21m N1 MIN Olives fell, olives found, Since olives/carob look
\ 710K owner did not know yet, like the tree they came
Y may not be kept, since from, it is a 120 and
owner was not yet wx'n | owner will not be wxn.
A
Y
Y < buaw 217
CASE Proof to Proof No proof because
A T 01w 2137 X217 Even though the owner | Here, a1 actually means
! nipAih) doesn't know yet, the an armed robber who
<§ 2w YOR 97 person the thief gave it | steals secretly (hold up) so
A too can still keep it, since | the owner already knows
; the owner will be wxn and is wxn right away.
A
/
<§ 1213 ot 2owe 233
% Steals in the open Steals secretly but owner | Steals in secret (thief)

sees him (hold up)
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15— 5 nyw .22

<O>W<O> <O>W<O> <O>W<O> <O>W<O> <O>W<O> <O>XX<O> <O>W<O>

O»W<O>

5
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o T nuw
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CASE Proof

to

Proof

No proof because

<OW‘O>

LR T AuY »IR
1970 WK

0°9V37 WRNIW

Only reason can be kept
is because owner was
wxn, but if wasn't wron

couldn’t be kept

Owner can save with
difficulty. If not chasing
shows is wxn.

If chasing, is not wx°» and
IS mn 20

44 - 15 nyw .22

< nYTH ROW 2907

"N BRN "

There are nicer ones

There are not nicer ones

Owner added on

12190 11?17N

12190 127N PR

12190 I1217N

12190 I1217N

know, he will know and
be happy, so it counts,
showing later knowledge
counts for now

CASE Proof Proof No proof because
to
nyTH XOW 07IN7 X217 Even though owner didn't | He made him a m>w and

knew he would take off,
just didn’t know which
quality so its not »n"v».

,:, "DDX % VJ’W,D .pn

» When you take off nm11n you are doing it with permission (of yourself)
» When your v takes off mmnn he must have permission from you to

do it.

S POOR T2 9MRT RINDIAY IWHROR MWK 27 ROV MY MWK
> wR 21 & onk ate from what sharecropper brought them
> X didn't eat, even after poox 22 > said “you should have taken better
ones” since x7u1r n was concerned that x"an only said it to not be
embarrassed. nman is a special mxn so there the owner means it.

)
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8 7w :25 — 44 7w 2D

o IRRY TTIY DU TV YRR XD

< o7vnw 7 — 7 liquids that make an object susceptible to become xnv

~

<O>W<O>

milk — 2517

oil — 1w

honey — wa%

wine — 79

<OW‘O>

water — on

blood — o7

dew — 51

< (M2 1R RIPM) YATOY 27RO

<O>XX<O>

"2 1K MY
n

is happy, since he didn't

know when it was wet,
knowledge does not
work retroactively.

palr [Fakk Even if it is placed by an outside source
20> m Owner has to know and be happy when it is on
A
Y
<§ CASE Proof Proof No proof because
A to
Y °D 7Y AX 12 IR Even though owner now | The s in the an of

1 teaches me that here
the owner must know
when it is wet.

<O>W<O>

20 - 8 myw @22

< FONIPY 1N TINDTIWR AN NTIN-Y2D FWYD 19

> If it lost only to owner, but others can get it — 2% 20
> If itis lost to all (washed away by river) — v ¥ox "5

<O>W<O>

—_F

AONRYMI

<O>W<O>

1w, it is 5w 198 "0
whether it has a 120 or
not,

So too, when it is 27n
e, it is vmnb 2arn
whether it has a 120 or
not, even though he will
be wxn!

CASE Proof Proof No proof because
to
1Y TARPTWR MR Just like when it is 19x "7

XXXXXXXXXX

PROOF REMAINS!
992D RNO"M
2" by

<O>W<O>

O»W<O>

)
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28 — 20 nymw :232

S SWR 299 X297 7992 XOX 391 9N

<O>W<O>

<O>XX<O>
[ ]

N
e X5°D

e (1.x))r31%220n
e VIV 2N

e (7 .R2) 1w IR "M
(8 .X2) "w

e (13 .83)a»m1777
o (14 .x3) mra 717
e P97

e NYTAITIAN

(2 :x%2) 10

<O>W<o>
[ ]

<O>W<o>
[ ]

> Xp°17an — can be kept according to all, since they get wormy and buggy,

the owner is +pan from the beginning.
e If we know the trees belong to o»mn> under mzn 12, one may not
take them, since the oovp omin> can’t be Smn.
If there is a wall around the trees that prevents bugs from getting in,
one may not take them, since the owner is not 2°pan them.

Know the following terms
o (1:X2)nyTn ROW WX

e (9:X2) MW R

o (15:X3)ynwRn

o (51 .82) RWT W IR WIIRT RNT
e (34 .20) pnma

e (35.20)m>

e (27 .22) *»aRT RIOR K21 RM™IAN
o DTUNW T

o NP

e (18.23)xnarn

e (20:2)0"p 2"w

o (1:x3)uww

<O>W<o>
[ ]

Know the following abbreviations

% > (12 .%2)"R7/7"K
§ > (27 xo) W'
% > (9 :R2)2"VR
> (18 :x3)w"n
% > (28 .20)1"n
% > (28 .20)1"0
Y > (32 .20) 9"RT/ "R/ 0N

O»W<O>

~
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<OW40>

BRIEF REVIEW — PART IT 49 :75 - 27 :2>

A

§ 8 7w .20 — 45 g ;a0
:
/

> Q%97 N2 M9

a2 N29
X 7799 12 ROW 227 W R 0 171972 201
y 1799 12 PR 927 W PR 0 W PR 0
<§
[e]
/
a2 X329
% 27T YT 3200 72°0 "7 KD 1°0 7
§ PR 72°0 "7 KD 72°0 "1
A
/
a2 N29

1'""7792 N
oW 19R 0

Gets stepped on
1m°0 on object lost

Gets kicked around.
Not in same opn.

5792 niovd
17277 P01

Not stepped on
1M°0 on object remains

Not kicked around.
1m0 of opn remains

% hahirhih Since tall, Since heavy,

<§ 27721 "3 don't get stepped on not kicked.
A ™372 270 10 on object remains 10 of mpn remains.
!
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<O>W<O> <O>W<O> <O>W<O> <O>W<O> <O>W<O> <O>XX<O> <O>W<O>

O»W<O>

18 - 8 myw a2

% 9w oK 917 nvan bya bw nos
» We can make a p»7: only baker loaves you can keep.
Homemade loaves you must announce.

~

<OW‘O>

CASE Proof Proof No proof because
against
Syabw... Mo 72 Since it has a »°0 you Since people will not step
n°an must announce it on food, (y2x 717/spells)
PI372 2N even if it is in 2", all agree here the 120 will
it must be that remain.
0I7°% WY M0
1290 77

<O>XX<O>

52 — 18 N1 .30
& SRIND RMOY

<OW‘O>

1ONR K27 10 DN DY 12y D7) Wy 1
15t vws 1M°0 17 v NP
N29 falrdlpleta v 12°0 M7
72 npYonn X 72°0 M KD
MNART RN M0 M7 npYonn 170 T R

<OW‘O>

"% M7 7 M = YW
XN

7 K/
0‘0 L X4

0°277 MW M2 700 MW2 M2°7D

77991 717 man 7

<OW‘O>

72°0 12 TR W 19R W 19R 0 IRl st} Rpleah!

722012 W ToOTMMoOmY = 2577

9— 1 mw
% 2T DWW MmN
» Case of mwn — 1w ox a1 = regular knot, regular amount
> AP0 %1011 7Y 77,170 01 DpwnTn
19 — 9 nyaw :a0
% w2 bw nisoanm
» Case of mwn — regular weight, regular cut
> “And cuts”: Body part - leg, wing - is not a 1»°0
Unique cut — triangle, bite shape —is a 120
% When x1n7 2772 7120 sent meat with the non-Jewish worker, he would cut it in a
unique shape (triangle) so it would not be a problem of v 1n o%vniw wa.
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<O>W<O> <Ow<0> <O>W<O> <O>W<O> <Ow<0> <O>XX<O> <O>W<O>

Ow<0>

10
AN

30 — 19 Y @32
& IO YOR 9T ... AW DR 1 BW nvan

77°N0 N7 29 »aR
Nn»e2 "W PR 0 7°¥n2 a)li7a bl
AR 3 97D DXINRT IN2IW NN
IR 1079 27m a)ii7l] a)ii7il]
TR P 0T NMXINT MNDIW TP
42 — 30 M a0
% RYIN 7200 7 2Ipn
Xowp ¥ 719 RpD1
1 5w nran X717 XNPA If says exact place
e AW W Why isn’t would be a5 a7n
12w YR M DR @ o? %0 M7 RS 2PN If says exact place
still 2w 19%

48 — 42 pmw i
<R3 R

CASE Proof Proof No proof because
that
Found barrel of | ownis | Since he could keep it Barrel was covered in
tar at winepress | nota | must be there is no 120, | moss, shows it was there
21 said “keep” 170 not even opn! for a long time, and
owner was already wxon.

5 AW .70 — 48 AW a0
% (X1 + 19 + PR) RONMBIR 92

Regular object R™MIDIX *25
0! W T5°0 12 PR 0 12 v 770 12 PR
Return to regular person v X v X
Return to oon 7n%n v v v X

% A oon non is allowed to deviate from the truth in the following 3 areas only.
o noon — if asked if he knows a certain 7, because of 7y he can deny it
o xo — if asked why he was missing from the w1 n°2, due to n"n 123, he
can say he wasn't well, even if the reason is because he was xnv.
o xrow — if asked how his host treated him, he can downplay so his host
isn’t inundated with guests.

% Only if he deviates in these three areas do you return an object without a 120 if
he recognizes it as his.
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9—5nmw .7

% RIDWINZ RDDST KOS 799 27K K707 NIWIT 7%

x7°01 X701 n's host had a silver cup stolen.

X7 % saw a person drying his hands on someone else’s garment and realized
he was the 213, since he didn’t respect other’s possessions, and he used them as

if they were his own.

18 — 9 nyw .72

% PYT INYaRw 2WwTR 209902 TMYYN 12 W' 77 NN

TTYOR 12 wnw 21 (who said that x°70ax *%5 are not m3732 2n) agrees:

> New "% which one may recognize are 3777 2

> New "% which one would not recognize are 17w 19x »1.
o Examples: single branches with needles or spinning forks,

24 — 19 nyw .72

% IR 2 oxnn

a single string of axes.

Someone who saves an object from:

~

<OW‘O>

A lion A bear A leopard
A hyena Tides of sea Overflowing river
Highway Big town square Public places

May keep it, even if it has a 1»°0.

11
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A N
Y 34-24 mw 7o Y
<§ % YO 12 YRR 29 MWRE O §>
A A
| X"2wn Y
Said his
A 73971 by A
! SR 217 0%IY35 21 !
%( also only %
% o %
Do the Do the
\ 112 112 i
Y disagree agree Y
b ~pe <
A A
y By an By o Y
°1y10 R
A also only A
Y P e Y
% Is the Is the §
A 71090 like o011 like A
! X"2wA the 1100 !
=P e ]
By an by an Y
R °1y10 §
also only A
J
41 — 34 M .75 A
% MIWNTR SN22Y NY9BID SNa2 NIYH RXIAT !
CASE PROOF NO PROOF BECAUSE §
An object that is found aw M3¥n 221 and even Due to non-Jewsh %
in @ No1> n°2, wATA NP, OF | HRI° 211 = X"awn =7 watchman,
public place can be VW R Owner will be wxn ]
kept. Y
A
J
A
<
A
M@()@(WW&M@()@)@()@(
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A 3w s — 34 77w .7 A
Y % T7O3N 713 R3» Y
<§ CASE PROOF NO PROOF BECAUSE §>
A Object hidden This is onon, we see 1) This is x"awn. A
Y . . J

in garbage dump: they agree to x"2wn | Case is garbage dump not
A If area is 8w 21 = 27n that it is w"xn due to be emptied, but
Y 11377 by w1 an was changed.
% If area is o°1w1> 217 = WX Since it was hidden, owner
A ™37 2N will lose it -
! take it and announce.
( 2) It is 11217 —in case of an
Y o°1w1d, if Jew comes &
§ gives »°0, return.
A (Says 2 270 K,
V not 19w 17x *77)

o DUIPID AW WS N0 D037 RXN

A
U
% 14 — 3 nyw 179
A
U

CASE PROOF NO PROOF BECAUSE
Barrel of wine found in | This is x"awn, we see | This xn»12 was said by 21
A city of ooy . from here that he OX, Who agrees with x"aw-
§ 1) 2w 198 17 holds it is only w"xn | by o1 211 but disagrees
\ Since wine may be non- | when it is 2w 21! by “xw> a1
Y Jewish it is ax172 70K, So x"awA can hold Y% w> a1
2) If a Yid gives a 1o, it is also w"x:.
A is still ¥9w 2% 777 and
! now can be drunk. This does show 1377 like
<§ X"2wA by 021w 2
Y

% Although the wine found in a city of o°1v1> 211 is ax172 08 (unless we know it fell
from a Yid), the barrel is nx372 2002,

13
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A
Y 2214w s
<§ S M JURIN MOWRT K123 RIS
A CASE PROOF NO PROOF BECAUSE
! 4 11 found tied up in noon is not like x"awn | Since Yidden are in charge
handkerchief in even by owid a1, since of dam,
A dammed up 772 7ma. city of 72 is  o™oy an probably fell from a Yid,
! TR 2. and still we see itis 2»n | and will be found by a Yid,
%( 19705, SO owner is not wxn
Y
N 29-22 maw :73
y % DRI M7 70N BIRY DIPw m TIT an
<§ > 1711 21 walked behind Sxmw an, not alongside, out of 725 for Hxmnw.
A
Y CASE PROBLEM NO PROOF BECAUSE
Person found wallet in | How can both be true? Really n297 is
A non-Jewish marketplace | If owner is wx»n, then oW R 1.
Y VW 198 1. it should always be " Here the 70%7 of
<§ If Yid came and gave 9w 1oR! 21 21 was
A 1m0, it is 77Inas 2n. If owner is not wx™n, 777 NWn 00105,
! then it should always
be 2 mmn% 200!

A

§ > Sxmw learned this nxnan from his father who found donkeys that were lost
( for 12 months. Owner was surely wx™», still he returned them.
Y

34 — 30 mymw =72

% % YAm1 297 79002 DRI DOpw 17 Xan

§ o If finds an object in an area of o110 a1, the 70%7 is YW o 7.
A o If aYid comes, gives a »°0, and says he was never wxn, the 7597 is still >
Y VW IR,

that he is not wxn; of course he loses ownership.

14

= Similar to screaming about a crumbling house or a drowning ship

~

<OW‘O>
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A A
) 38-35mmw s Y
§ XIS & \Shhi §
A CASE PROOF NO PROOF BECAUSE A
! Vulture picked up meat Since market is A vulture carrying away \

from marketplace and | oxw° 211 and 7097 is 00 meat is like o> v w11,
A dropped it in palm trees VW IR, since owner doesn’t
V of 11 72, Must be 1951 is like expect to get it back so
%( "R said 19w HR 077 SR 2172 MOR K"MW all agree it is Yow ox "
Y

> In order for the meat to be 7%°x2 anw, it must be watched the entire time
to avoid it being v 12 obvnw wa.

A
¢}
Y
% 49 — 38 mymw =72
? % 9715XY RIMSW P2 WITR 9TA RIN NI "D

Found shechtea Found in road Found in mwx
A
Y animals
<§ 7N TI0K TI0X
Y X1°117 °20 pighia) plalla
X gy i TI0X
<j§
A CASE PROOF NO PROOF BECAUSE
! Shechted goat found. | Since itis -nm to eat, | In actually it is 021w 21,
1) anm to keep. must be x> 2, and | but since 211 butchers are
A 2) " to eat. we see it is Yidden, it is 797082 nn.
! W R 7
% like x"awn
Y

% 15977, we pasken like x"awa by 021> 211, Whether we pasken like him by 5w an
IS @ D NWRY NPYnn.

15

;01 <O>MOW<O>MOW<O>MOW<O»mo»mo»mo»mo»mo»

@40%‘0» <OW‘O> <OW‘O> <OW‘O> <OW‘O> <OW‘O> <O>XX<O>




I <o,@(ﬂ,)@@o,)@(ﬂa@@o.)@@o»@(«o»X)(«o»>®<<o>>®<<°>>®<‘°’>®(‘°’

A
' Know the following terms:
<§ (29 :20) DI WY N0

% (34 :20) Rnynw

(43 :20) oWpn YW 1D

(49 :20) vy’

(16 .30) P20 Y 1°7%29n PR

(18 .20) *Rino> &Y

(23 .30) 1"HRn K27 120

(38 .30) "InRT ROK

(8 :30) Hpwn ,pan 07 YW 0

(16 :30) 117 19 DynIw w2

(50 :30) o*922 7y nvoaw

(53 :20) 1m Xpo1

(27 .72) % R¥HN OXR

(47 .72) M1dH WY (APRY) TOWR

(1 :72) XX NYIR

(5:70) 01 ano

(11 :72) ®7m2 7°5¥ 2991 RTA2 720D 712 720

<OW‘O>

VVVVVVVYVYVYVYVVVYVYVYVYVYVYVYYVYYY

Know the following abbreviations

A

/
% > (28 :0) 1" /1"

\ » (37 :20)°"mn /"2

Y » (37 :22)1"n

> (19 20)°"

A > (35.20)yMa/y"y/y"7
§ > (37.20)p"n

A > (9 .20)R"wN/w"

Y > (37 .12) ¥"an
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XSS S S A=

NSNS NS XS NS
A

7''0a

+ne PEREK IN REViEw.

NIRXA 19X 27D — RYOXA X223 N0

BRIEF REVIEW — PARTIII 7 .15-49 :7>

4 .79—-49 :73

& 199979 29977 19N - IR

5

Cases of | 1) fruits in *7 2) Empty "> 3) Money in purse
the maw» | 4) Empty purse 5) Piles of fruit 6) Piles of money
2m 7) 3 coins stacked | 8) small bundles in >"77 | 9) homemade bread
™77 10) wool from 11) barrels of wine 12) barrels of oil
craftsman
23 -4.1
% D02 MYRY Y953 NIID RINT AP
Jawn X072

790 “Fruit in *55 are 3% 270" An object with no 10 (fruits) next

»7: fruits in front of "> are | to an object with a 10 (v%3) is 2»n
W BRI | hinti)

1 yan Flax and a barrel. Fruit and a basket,

752129 Since nothing left inside, so nothing left inside, but could’ve all
didn't come from the barrel. rolled out of basket

2 yan Fruit and a basket, Fruit and a basket,

RDD 29 nothing left inside, so probably some left inside, so probably
didn't come from the basket came from the basket

3yan Fruit and basket, nothing left Fruit and basket, nothing left

RDD 29 inside, basket not facing fruits. inside, basket facing fruits.

4 yan Fruit and basket, nothing left Fruit and basket, nothing left

RDD 29 inside, basket facing fruits, rim inside, basket facing fruits,
inside basket so some should no rim inside basket, so all could

have stayed in have rolled out.
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2523 mw .o
MR MNIIXI MT%D Jax

CASE

PROOF

NO PROOF BECAUSE

<O>m<0>

If a person found piles
->ax — of fruit
17977 2

Since it is piles,
it must be that
17°0 17 770

Perhaps the xo is Max —
pile — singular, so the
amount isn't the 0.

=0

If a person found a pile
— 2% — of fruit
1970777 271

<O>XX<O>

Since it is only 1 pile,
it must be that
1°0 M7 opn

Perhaps the xo73 is ™Mmax —
piles — plural, so the place
isn't the 0.

43 — 26 nyw .12
T 23 5Y T nwaun gwhw

<Ow<0>

> Stacked like a tower — 13735 2
> Leaning on one another = scattered = v 9% 11

( > RIn o

Y Stacked like a tower Not stacked like a tower
<§ wide = middle = narrow All the same size

A 1 king 159579 29 2w 1o 597

! 3 kings

( > M

Y Stacked like a tower Not stacked like a tower
<§ wide = middle = narrow All the same size

A 1 king 3R 2n

V 3 kings Owner must say how many coins + their arrangement

46 - 44 M .3
< R M owa

<OW‘O>

<Ow<0>

CASE - Found coins shaped like a: bl
Circle ?
Line ?
Tripod (triangle) ?
Ladder If splinter can be placed in and pick up

all 3 at same time — ™79 270

<O>W<O>

5% e — 46 o LI
o WK 27 %3

Ow<0>

» If the coins are shaped like the stones of o°>17 n°a — two on bottom and
one on top — mM>a% 2

18
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11 — 5 nyw oo
& P YHD RZINT 1129 1IN

~

<O>W<O>

<OW‘O>

15 — 11 pyw o
S TDAT NN NXB — mawn
» Found tied up pigeons behind a wall or path in field — leave them.
» Found %> in garbage:
= Covered — leave it
» Uncovered — announce
27 — 15 myw :a3
% ITIPIZN WOPK 17 WIMRT IRBYY IND

CASE - Found coins and gives 1»°0 of: pebh
It is mine
It is new 0170 MR R
% It has Emperor Nero or a different king Since money changes hands
<§ My name is written on it
%

<O>W<O>

72 Y3 RY
Since owner won't be
able to reclaim it.

<O>W<O>

<OW‘O> <O>XX<O>

<OW‘O>

41 — 27 myw 2o

‘ 74 4 N 1
Y 1wp here is not a 1m°0 because awn here is not a 1m0 They are mi poo Y
<i§ it is tied in the usual way because they hop around | Unsure whether placed or Iost§
Y > 1 RY 901 ORI 0 XY 79°1N025% M poo 93 Y

A % TDWN2 YD N¥N )
) 77°N0 53 covered in a garbage dump | "> covered in a garbage dump Sun A
! 1Y KD M !
‘ 1y9n He found barrels and cups — He found knives and small forks — | 7
U 7927 2 thrown out on purpose, unintentionally thrown out, original Y
<§ these are hidden by new owner owner wants back. §
Y 2 yan He found barrels and cups — He found barrels and cups - Y
RDD 29 Garbage dump is not to be Garbage dump changed schedule
% emptied for a while, & will be emptied early, ¢
<§ *hider’ will come back for them *hider’ will come back for them §
A and find them. and find them gone. A
19 !
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7721 0

X955 17

"nIoh

unint

mowR 717 12" | It is the 777 of garbage dumps

entionally emptied into it

It is the 917 of garbage dumps
to have small items to have a change of schedule

and be emptied early

<OW‘O>

44 - 41 nyw :o

*,

D)

» WS BN193Y Baa NI - 71N

Found obiject in:

Pile of stones / old wall

W 19R 0
New wall Outer half (towards street) W 17K 7
Inner half (towards house) n°an Sya hw
Rented out house VW 198 7

noan TIN2 Y9N

1 79w .30 — 44 7w @12

17 2R DR 19 9190w S15M NI

Since the object in the wall is very rusty, the owner can assume it was from long,
long ago, even from the time of the »mnx.

Ifitisoni

n°aa Hya hw

7 —1 e
% noan bya Bw PIn®Y 1R 1w YIS 1Rn W bnisa
aawn 2WR 27
70 If it is on outer half of wall A knife or money bag found in wall:
VW 17K 077

which way handle or strings are
nner half of wall facing displays ownership, not
which side of wall it is on.

7an Objects that don’t have handles
like silver bars or stuffing -
location is where it came from.

Since it has a strings or handle
which way handle or strings are
facing displays ownership.
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10 — 7 nyw 12

SRR TR RMR 797 AR NN

~

<O>W<O>

<OW‘O>

31 —10 nyw .2

S DIIARY 10w 797 BN

CASE QUESTION ANSWER
If wall is filled | Obvious — both people have One side of the hole is higher
with object an equal claim. than other, I would think higher
% RN side gets it, because it slid
<§ down, 1P "np
A
y

belong to finder —

A
<% $ FOUND By animal merchants On noan Streets of avvwim»
N
é Rest -of year S o [
Y v'"y time 1Y WYN
A
/
<§ mwn» here mwn» there
% 7°N0 Obijects left in rental house $ found in streets of o»un

during year is 7m —

) we don't say fell from last person. | we say it fell from last people.
! 1y Our mwn is when it was rented out to three Yidden.
<§ wR? WY Since the one who lost it can’t make either swear, he is wxn.
Y 1M 29
2 van Our mwn is when it was rented out to three non-Yidden.
NI ' Automatically, it can be kept when found.

<O>W<O>

9 799 99 — 31 3w .o

<0 TONPUY 1A 21 RTIND

<O>W<O>

O»W<O>

> If he saw a v>o from between two Yidden — must return, owner will not be
wxn since will assume other person took it and will claim it from him.

> If he saw a v7o from between three Yidden — can be kept, owner will be
wxn since will assume one of them took it but will be unable to claim it,
because a ny1aw can only be made on a definite claim.

)
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A
V' 17-9 nvw o1s
<§ S MIAAR 27 IR TRWHWA NIRRT ONT R2Y N
Y When it fell from between three people, we need to return it if:

RIWH There is more than 1 nvo per Perhaps they were partners.
% ANwRY person One who lost it thinks they are
% just teasing him and will not wxon.
A XDR There are at least 2 ms total Perhaps they were partners.
! MINRT One gave up his nvo, and the
other one was just teasing him.

26 — 17 Y :13
& abRIR YO0 IR N2 AN

% BYTAn Y 22°Wn 2wt busa a%ynTe 9o R
<§ Took before v to
) keep it ‘/ \/ \/
V Returned it after
( VIR ‘/ ‘/
<§ Took to return. ‘/
) After v kept it.
Y
Saw fall. Waited
until v then took ‘/

33 —27 1w :

A % RNO7 92 770020R T HEIT T IND ONT X2 MWK

<§ > A coin that fell in the sand can be kept. Even though owner is sifting, he
A
Y

really is wx>n and looking for someone else’s coin.
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A 39 -34 a1 i
' NS NXD — TR Y
<§ 1a) | In store area W 19K 071 ;?
Y b) | Between register and store owner R hialvii7 Y

2a) | In front of “wow W 19RO

% b) | Between register and “in>w AW YW ¢
<§ 3a) | Bought fruits or received fruits W 19K 071 %

A Found loose money inside A

Y b) | Bought fruits or received fruits 1570m) Hum J

A Found tied inside A

V Y
% 50 — 39 nyw o2 §

Y < T o33 bY PRI TR IYRN 929 N Y

In entrance On register Between register & owner
% nan oW noan Hya noan Hya
% I oW oW noan Hya
A
o)
Y

Proof for y>w when on ow:
\ > Why say "amwb xod 12" is amw Hw.
Y Let it say m>wn By is i Sw and for sure behind is his.
<§ Must be “on the table” is vow.
Y > Xwm™ says "mana xxn" only is 19w 1o .
RNPYEAR SAYs " In?w *10%" IS 19w 1R 77
Must be “on the table” is Tw.

7 7w .12 — 50 77w 29D
% 17%amm M npYon

‘ Buys from merchant VW IR 77
% Buys from n°a77 5va (whose servants threshed) 113777 20

A

|

A
?

A

23

@40%‘0» <OW‘O> <OW‘O> <OW‘O> <OW‘O>

;01 <O>MOW<O>MOW<O>MOW<O»mo»mo»mo»mo»mo»



I <o,@(ﬂ,)@@o,)@(ﬂa@(@a@@o»W«o»X)(«o»>®<<o>>®<<°>>®<‘°’>®(‘°’

<OW40>

A
f
<§ Know the following terms:
y s (10 .79) Wrnm

% (32 .70) RDD RX
A s (43 .70) RUTR ORD
Y % (23 :10) mnH ROR
% % (26 :112) I XY D01 R 7Y XY M PO 93
A % (37 :12) 7om1
! o (14 21) 1w wvn
‘ % (14 20) P9
Y < (32 .12) Tnveb
§ % (19 :2) 2man &Y
A < (20 210) o2wn awn
! % (20 :1) 0%yni? 9210 KXY
% (21 20) Ama IR 2w
» (6 .10) 127 P 72V MIPW 0 9D

*,

0

Know the following abbreviations

% > (10 .10) 2"np
% > (49 ) n"w
A > (3.m)w"
Y > (6.1)"y
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